- = B WA ' E 5 F 2023FFAHBRE _ wm = NREFARER
S AsuNEd 1| (" e |2 B8 B | & | B |20 eouewax mmes|gT 5 | T
*PEA g BX| X g S FEXRM - TOM Uhmi/(?ﬁl BERS) - @iF Ilj @ A 8 x 3:_{7)] BIEE), B ZOM %IIJ % E=

03| 5 | % &g (ESEFRE) - Z Dt M| EZ| 8 | B8 | £ |&8 Bl B | =
<HE— AR > BEFICERC EAMC | K= RER (f— 17 AT
- BAE 8 FHTH ) < REREDRN T 7 A L > GOMm—757 4927 | 25 8| 31
" GE)20234H THBIET, | 4% — W A
(fm HARTE— 26 T, | 20k —JeH BT v 4 2)
SRR = W28 ELL T O | - (EEEA - it
L HIHD () P A 1 FETE R
i k= BERE (£— 7
s> 18 ) <PEREERET 7 1 > 60| 20| 3.0
H374997-9> 3 &) 12 9] 1.3
B 5 O = (R - i 14| 5| 238
~IZTE7H4 Y 20 " 50 31 1.6
A k= BERE (R 55| 33| 17
- ER )
QR =HEM ST T 2 b o FES
A - b
L () F 0 A 1 ST
BE 10 K= IR A 2| 12| 18

Cutoh il ) (Iii %i\t;%f‘)ﬁTx P /\h—k) 10.18

o e : .

f@?iﬂlﬁk; w8 | || 1K= A M e 126 37| 10| 37

T (042)342-6995 WR=T V¥ rF—vav 9.26 11.5 1.15 ’

T187-8505 M HHR/IN o T ' 11.6 '

FRIRTSS “Ewxle | 14 k= S i) 2] 15| 15

O = /NI + T
-FH4 ViER 10 1R=HHERE (R—F7 17 12| 1.4
+ ) A <EWEET 7 A4 V>
&)
WR=FEHI7 A b -
i K - b

() M A 1 ST

<FHT—9 Y3y THR> IR=HHELRE - 7L E Y

EY-IZIE744 10 F— g VEIE
WR=EZETot X5 X b

CRETD)




- » = i H:‘. fE & & 2 E A & 023EI§)\.%‘:\TBEA " = ZOZEEI;’%A)\%?E?EE
A % @?ﬁ'ﬁ% by ZE% B . S8 SR @ BED - e - g |27 sonemm: mass|BZ| B | P
ARk s X g BF FERM - Tt Uhmi/(?ﬁl BERE) - miE Ilj A x 3:_{7)] BIEE), B ZOM % o % $
9 | & |igiE (EFBRERE) - T Dfth | RS 5 % |#&8 He| B | =
<BTHA> BERITHEI L a2 | BENERAK=1Kk—# A —HEET
b2 ) T B HEA, 2R—HEH T 2 GE) 2022 A R OB = ik
-DYT4F4F4)8=537 10710 GE7VIAF 4747 | b« i HOER LN, @=HF) |@34| 22| 15
N—Y 3 VERIOFHEAN | BRAEBRAFR=1K—~F ERAHRERT ® 9 4| 2.3
B El 8 | HEA, 2K—>mHE
FhEHRGTERT 9.16 10.18
EErTIEYER ool I el R KRR (F_ 1 9226 o 12,6
ERAERE — g 8 + VA <Rk 7 7 1V > ' ' 57 9| 6.3
at)
QR=F— N7+ ) FEE
. iEE
<BEB—MARX> BFRITHEI L amL | HHFERE (R—FT7 1+ VA AL —MIEE T
B -imig wHETLH <FESERNT 7 AV >ED)
<HI374957-0> 3 i) X « T RMEL =7 v & 4 3] 1.3
B2 5 VKRB - B>, WA 14 1| 4] 28
o B =101%) - i '
SETHICEN I wrnmnr> A 08 E BEES - EFAR D) 2 12241 112
REEFRMAT | o mm— w77 - T 1122 5| 3| 17
%) .
21K X
<HEY A TV RBEBEAL> BERITHEI T L2 | IR=HHEA
ERER HHTLH 2R = fi
STy | 8 - 12.5 4 4] 10
2 1.12
11.22 12.24
- i X - e
<HEHT VY2 VEEERAR> 1R =HHEA
ERAEE - & 8 QR =HER S 7 R b o ThiBE 0o - -
11.14 125
2 1.12
11.22 12.24




